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[O]=1
2y  081% (-3.8bp)
10y 1.56% (-7.0bp)

30y 221% (-7.3bp)

[7|Et 10YE]

oz 0.56% ( 0.0bp)
=9 -0.09% (-1.2bp)
DA 016% (-1.1bp)

O|EtZ|ofF 1.11% (-1.6bp)
A Q2 0.93% (-1.1bp)

ag|A  7.86% (-0.5bp)
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DOW30 18502.99 (+0.58%)...
NASDAQ 523233 (+0.26%)
S&P500 2180.38 (+0.52%)

NIKKEI225 1673749 (+2.30%)

SHANGHAI 3070.03 (-0.01%)

FTSE100 6838.05 (0.00%)

DAX30 10544.44 (-0.41%)
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CAC40 4424.25 (-0.40%)

v 2, 89 ABXE VUK L

oZ/ct?{  1.1188 (+0.0006)
S/ 114.04 (+0.03)
e/ 101.90 (+0.12)
tHa{/Q|0t  6.6856 (+0.0368)
o2 =/22 131032 (-0.00293)

NDF 1119.00 / 1120.00...5.65& |
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WTI 46.98 (-1.1%)

COMEXZE 132710 (+0.09%)
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FAm 2032.35(-0.25%)

TAEF 663.58(-2.48%)

QJ/Et2{ 1125.00, MYUH| +11.30<

*KTB: 111.09, M &H| -11E

*LKTB: 132.99, ™ H| -35E!
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3y 1.272%  (+3.1bp)
Sy 1.301% (+3.1bp)
10y 1.445%  (+2.2bp)

CD 1.340%  (Obp)

3y -2.7bp (-0.4bp)
Sy -4.6bp (+0.2bp)

10y  -13.0bp (+1.6bp)
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1y 1.2825% (+2.00bp)
2Y 1.2500% (+2.75bp)
3Y 1.2450% (+2.75bp)
5Y 1.2550% (+3.25bp)
7Y 1.2700% (+3.50bp)

10Y 1.3125% (+3.50bp)

12Y  -325  (+0.25bp)
2*3Y  -050  (Obp)

2*5Y 050  (+0.50bp)
3*5y 100  (+0.50bp)
5*7Y 150  (+0.25bp)

5*10Y 5.75 (+0.25bp)
*CRS 2|

1Y 1.1600% (-0.5bp)
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2Y 1.1100% (-0.5bp)

3Y 1.0950% (-0.5bp)
5Y 1.0700% (Obp)
7Y 1.0300% (Obp)

10Y 1.0300% (Obp)
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0| =-83 CBAH|XAIZ|X|4= (0]:97.3, 0 A4:97.0)

-S&P/CS 20 = A|FEH 7} A X 4=(YoY) (0] T:5.2%, Of &+:5.2%)

TERE-8F AH[XHURX| S (0[H:-7.9, 0f4:-9.0)
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CPI(MoM) (0] X:0.3%, 0f|AH0.1%)
AAE (0|F:3.1%, OfAk:3.1%)
A OJEHOR (YoY) (O|&:-1.4%, 0fAk:-0.9%)

A X|Z(MoM) (0| ™:-1.1%, 0fAh1.1%)




